Efficiency vs Dxy(PV)
S 0.2

-25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—"— DQM_mkFit_baseline_lowPT

Efficienc] — DQM_mkFit_baseline6iter_lowPT

0.8

S‘ F

[

3o

o

1

2o

>

o

3 .

3 05 i

S :

04
03
0.2
0.1F--f-

o QpR -+

T

Y S S
ogf--fr-Hfi- RO RO

-17080604-02 0 020408608 1

TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

e
T
]

efficiency vs dz(PV)
o
@

o
ey

1
~
T

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

;OAS_

a N N N

4 . .

> .

P .

Q .

< .

[} .

] H

© .
------ ;
...... L

8

T

© osft

o6ff---4---={--F---FEHY - - -2 -2
-1 -0.5 )

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


